L Montagearten; Bauhéhe 6.3 mm
[ Fir Lotstift 90°, 7.18 mm (YCA)

Assemblies; mounting height 6.3 mm
For solder pin 90°, 7.18 mm (YCA)

M46A x x M47A x

39
R

‘

I

I

i

|

6.3 !
!
7.7)

43
] Ee—=
M |
Epmimi
=
e

[}
&

(10.02) (1002

114 114

(14) (14)
?3.4

< Metallwinkel mit P.o.F.
Metallwinkel / Metal bracket Metallwinkel / Metal bracket Metal bracket with P.o.F.
M46A D3  Niete/ rivet @ 3.1 mm M46A UN B5 Niete/back nut  UNC4-40 M47A D3  Niete / rivet @ 3.1 mm
M46A UN  Niete /back nut ~ UNC4-40 Schraube / screw 5 mm M47AUN  Niete / back nut ~ UNC4-40

M46A M3  Niete/back nut M3

M46A UN B6 Niete / back nut ~ UNC4-40 M47AM3  Niete/backnut M3
Schraube / screw 6 mm

M46A M3 B5 Niete /back nut M3
Schraube / screw 5 mm

M46A M3 B6 Niete /back nut M3

Schraube / screw 6 mm

M47A x x x
| BE
’ ‘ H 23.1
3 8.61
(10.02)

Metallwinkel mit P.o.F.

M48A X >, M49A X 57
="

39

6.3
el
(7.7)
4.3

4

Metallwinkel mit P.o.F.

Metal bracket with P.o.F. Metal bracket with P.o.F. Metallwinkel / Metal bracket
M47A UN B5 Niete / back nut  UNC4-40 M48AUN  Niete/frontnut  UNC4-40 M49A UN  Niete/frontnut ~ UNC4-40
Schraube / screw 5 mm M48A M3  Niete/frontnut M3 M49A M3 Niete/frontnut M3

M47A UN B6 Niete / back nut ~ UNC4-40
Schraube / screw 6 mm

M47A M3 B5 Niete/back nut M3
Schraube / screw 5 mm

M47A M3 B6 Niete/back nut M3

Schraube / screw 6 mm

19

06.2003

S
()
5
=
o
S
(]
>
=
(9
7]
e
v
o)
S
o
O
S
=]
e
O
=
£
o
=
n
(]

w
f
(@]
)
(9}
(V]
c
c
(@]
o
o)
£
(@)
O
(V]
S
o}
e
.S
=
£
o)
=
v
(]



